
NSN 2040-01-592-0640
Marine Hardware And Hull Items Modification Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/2040-01-592-0640

End Application:

Rudder system onboard wlb-225 class coast guard vessels

Nonsupply Items And Quantities:

81340 01-561-003-q rudder stock hoist ring 1;  81340 01-561-001-5 bearing upper rudder stock 1;  81340 01-562-001-8 seal plate 1;  81340

01-562-001-18 seal retainer plate 1;  81340 01-562-001-23 seal retainer plate 1;  81340 71069-007 bolt 5/8 x 2.5 sst 1;  81340 71263-011

washer flat 5/8 sst 8;  81340 71061-006 bolt 3/8 x 1.5 sst 8;  81340 71650-018 nut 1 in self locking 8;  81340 71263-014 washer,  flat 1 in sst

8;  81340 71686-083 bolt 1 x 6.5 astm 325 16;  81340 71686-037 bolt 3/4 x 4.0 astm 325 8;  81340 71263-012 washer flat 3/4 sst 8;  81340

0156103-23 grease fitting 1/4 npt monel 2;  81340 13008-079 washer flat oilite 4;  81340 bolt 1/4 x 75 sst 8

Product Name:

Rudder assembly repair kit

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A23800

https://aerobasegroup.com

